
QUIZ TIME 
Archive 

Subject: 

Done by

هِ رَب� الْعَالَمِينَ )  نِ الْحَمْدُ لِل�
َ
مْ أ

ُ
( وَآخِرُ دَعْوَاه

• ا 
ً

جعَلَ اللهُ الخِتامَ مِسك

Aya abu samra



Lec 7
اسئلة من مصادر خارجية

1)The ejaculatory duct formed by union of vas deferens and which of the
following?
 •  A.Vasa efferentia
 •    B.Duct of seminal vesicle
 •    C.Prostatic glands
 •    D.Prostatic urethra
Ans :b

2)Which of the following is not a component of the spermatic cord?
 •    A.Pampiniform plexus
 •    B.Vas deferens
 •    C.Testicular artery
 •    D.Ilioinguinal nerve
Ans: d

3)Concerning the vas deferens, all are true EXCEPT:
 •    A.It lies medial to the epididymis.
 •    B.It lies lateral to the seminal vesicle.
 •    C.It is about 45 cm long.
 •    D.It has a retroperitoneal course.
Ans: b

4)A patient was examined with a left-sided varicocele; the left testicular vein drains
into which of the following?
a. Left renal vein
B.Left internal iliac vein
C.Left external iliac vein
D.Inferior v ena cava
Ans: a



Lec 10
1)All of the followings are branches of internal pudendal artery
except?(ارشيف)
Select one:
A- Perineal artery
B- Inferior rectal artery
C- Middle rectal
D- Artery of the bulb
E- Deep artery of the clitoris.
Ans:c

(اسئلة من مصادر خارجية)

2) Which of the following artiries do not enter the lesser pelvis ?
A- ovarian arteries 
B- median sacral artires 
C- testicular artries 
D- superior rectal arteries
E- internal iliac 
Ans:c
C 

3)Internal iliac artries begin at the level of the IV disc:
A- L2-L3
B- L 4
C- S1-S2
D- L5-S1 
E- L5-S3 
Ans: D

4)Select the WRONG regarding INTERNAL ILIAC ARTERY branches:
A- superior gluteal artery from posterior dev 
B- the iliolumbar artery from posterior devision 
C - inferior gluteal artery from posterior devision 
D- middle rectal artery from anterior devision 
E- Obturator artery from anterior devision 
Ans:c


